Pre-Calculus 12 November 1, 2012
Logarithm Review K EV/

PLEASE READ

This chapter is challenging because it requires you to solve questions in a method you are not
used to using. The understanding of exponent laws and logarithm laws means that you have to
be able to use them, not merely recite them. This means you will have to practice, practice,
practice and even after that you will have practice some more. Unless otherwise stated, all of
these questions are to be done without the use of a calculator. If you are using a calculator to
answer the question, don’t bother doing the review ( IT wiLL BE OF NO BENEFIT ®)

Have your laws of exponents/ logarithms handy and let’s begin.

PART A: Simplify the following. (If you understand logs, these should take about 10 seconds each. )
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9. log: (‘/75) & Ok ... this should take you more than 10 seconds... 1 or 2 minutes maybe 7?77
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PART B: Determine the properties of the following exponential and logarithmic functions.
10. Find the domain, range, equation of asymptote, x-intercepts and y-intercepts.
y = 2%+ _3 DOMAIN | RANGE EQ. ASYPTOTE | X-INTERCEPT | Y-INTERCEPT
y—2=-3t Oxre® | y>>3 =3 Z= Mo, 3=-3] y--1(0-1)
y=log,(x—~3) OIEER | u<Z2 | 1-2 Bgh -Closs20l =1 (o))
_lgz el >3 ye R x=3 T2 - d (¢0)] Newe
y=log:2—x) N5 ) welR -2 2 =) (1,0)] logz2 = T2y
y=-logsCx-1) | %73 4 & P o £ =] (1,0)] Nowe
f.y=5+log,(—x) g x< O YR 1L=0 X > 33(5 o) NodE

11. Determine the restriction for f(x) = log, (x + 3). 1/!” |

X 7-3 bt x70 so [x_>0_37_“ln

12. Determine the restriction for g(x) = log,_1(5—x) X -\ 7& | ) L —— - "S
<5 but 2-1>0 = x| 41(5 [)i "ff
13. What two integers will log 666 be between? (Remember... no Kalkulader.. Use G afé’r')*— .
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PART C: Use the laws of logs to simplify the following expressions.

Fy

14. log,4® ~ 1y %’ 15. log;V9 - I_@_.i} 16. log,20 — log,5 = /"j; (4) __,_0:}_2 @
loy & Joc 3 log 2

log 2 'L.J (__,_ |

17 log36+log312 log3 18 2109210—310925

/js 612 /3? L :/0::'00—15.’,/1(5 /(‘4\-;:‘7[/{2}
( ) 7 : j/‘, J;(?)) |~z ___%j_sj

19. log5 + log6 + log100 — log3 20. log,7 —‘log,18 — log,14 + 2log,3
Don't forget.... No Calculator... Use your brain !!!
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21. Simplify the following as a single quantity: logs(x? — x — 2) — [logs(x — 2) — logs(x + 1)]. ‘j
/ " xtx -2 5 (1\4’)({+/>(L+/> 2
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PART D: Solving exponential equations ]

Use the Laws of Logs to answer and then use your calculator to round the answer to 2 decimal places.

22. Solve forxin 2 =5**1
/557 p (x+/)ffj5
24| = Log2
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11{]5=1/f7?
x/ajS'z/j?
x (Loy3-Los?) >

B{_:f@j 2|Page

1}

\
@)



Pre-Calculus 12 November 1, 2012
Logarithm Review

24. Solve for x in 2**1 = 5*+2 o~ X+ = &4—2)(2 32 /ﬂ
(xﬂ){aj 2 = (z+ Z)ij 5 C -34439:- /.3219x
2ol <G Lys) < (2 rw]

25. Solveforx in 3 x 2%+l = 7%-2

/(j (3‘21—*) - /?j ?2—2
Ly3 + (zoi) 2 - (z-2) 4oy 7

dy3  (zr1) /L -Z) - x-2
2%1‘7 ' (jﬂu‘j?

05646 + (xr1)(03562) = x-2
7.5046 + 03562 x + 0.3562 = X
J.9208 = 0.643%«x
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